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H.P. BOSE

Sample Paper (Session-2021-22)

Second Terminal Exam 2022

Economics

Time:3 Hrs Class : XI M.M.: 50

çßàæðá çÙÎðüàæ

Special Instructions

v. ÂýàÙô´ ·¤æ ©U�æÚU ÎðÌð â×Ø Áô ÂýàÙ â¢�Øæ ÂýàÙ Â�æ ÂÚU Îàææü§ü »§ü ãñUÐ
©U�æÚU ÂéçSÌ·¤æ ÂÚU ßãUè ÂýàÙ çÜ¹Ùæ ¥çÙßæØü ãñUÐ

While answering your question you must indicate on your answer

book the same question no. as appear in your question paper.

w. °·¤ ÂýàÙ ·ð¤ âÖè Öæ»ô´ ·ð¤ ©U�æÚU °·¤ ãUè SÍæÙ ÂÚU Îð´Ð

Attempt all parts of a question at one place.

Öæ»-¥
Part-A

ÙôÅUÑ ÂýàÙ â¢�Øæ v âð v® Ì·¤ ×ð´ çÎ° »° çß·¤ËÂô´ ×ð´ âð âãUè çß·¤ËÂ ·¤æ
¿éÙæß ·¤ÚÔ´UÐ
Question numbers 1 to 10 select the correct option from the

given alternatives.      (1×10=10)

v. ·ð¤�ÎýèØ ÂýßëçÌ âð �Øæ ¥çÖÂýæØ ãñU?

·¤) ·ð¤�ÎýèØ ×êËØ ¹) ×�Ø ×êËØ
») ÕãéUÜ·¤ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´
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What is meant by central tendency?

a) central value b) mid value

c) Mode d) None of these

w. y  â×æ�ÌÚU ×êËØ ·¤æ âê�æ çÙ�Ù ãñUÐ

·¤) E
y�

�
¹) E �q

») y
E

�
� �æ) E��

What is the formula of Arithmetic mean y .

a) 
E

y �
� b) E �q

c) y
E

�
� d) E��

x. ×�Ø·¤æ ç·¤âè �æë¢�Üæ ·¤ô Îô Öæ»ô´ ×ð´ ç·¤â Âý·¤æÚU Õæ¢ÅUÌè ãñUÐ

·¤) ÕÚUæÕÚU ¹) ¥â×æÙ

») ÎôÙô´ ·¤ ÌÍæ ¹ �æ) §Ù×ð´ âð ·¤ô§ü Öè ÙãUè´

How median divide a series in two parts.

a) Equal b) Unequal

c) both a & b d) None of these

y. çÙ�Ù ÂÎô´ ·¤æ â×æ�ÌÚU ×êËØ ãUô»æ ×Î z, {, |, }, ~

·¤) | ¹) }

») ~ �æ) z
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The average value of the following item is? (item) 5, 6, 7, 8, 9

a) 7 b) 8

c) 9 d) 5

z. çÙ�Ù ÂÎô´ ·¤æ ÕãéUÜ·¤ �Øæ ãUô»æ?

×Î vz, vz, vy, vx, v|, v|, vz, v}

·¤) vx ¹) vy

») vz �æ) v|

What is mode value of following item?

(Item) : 15, 15, 14, 13, 17, 17, 15, 18

a) 13 b) 14

c) 15 d) 17

{. âãâ¢Õ¢Ï ¥çÏ·¤Ì× ×êËØ ¥õÚU çÙ�Ù ×êËØ ·¤è âè×æ ãUôÌè ãñUÐ

·¤) ® ¥õÚU v ·ð¤ Õè¿ ¹) -v ¥õÚU ®

») -v ¥õÚU +v �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

Degree of correlation maximum and minimum value is:

a) 0 and 1 b) �1 and 0

c) �1 and +1 d) None of these

|. ÜæòÚÔ´UÁ ß·ý¤ ¥æÂ ·¤è ................ ×æÂÌæ ãUñÐ

·¤) â×æÙÌæ ¹) ¥â×æÙÌæ

») ÎôÙô´ ·¤ ÌÍæ ¹ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´
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Lorenz curve measure the Income...........

a) Equality b) Inequality

c) both a and b d) None of these

}. �æð�æè ¥¢ÌÚU âãU-â¢Õ¢Ï »é�ææ¢·¤ ç·¤âÙð çÎØæ ãñU?

·¤) ·¤æÜü çÂØÚUâÙ ¹) SÂèØÚU×ñÙ

») ÎôÙô´ ·¤ ÌÍæ ¹ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

Who gives the Rank correlation coefficient?

a) Karl pearson b) spearman

c) both a and b d) None of these

~. âê¿·¤æ¢·¤ ·¤è ÚU¿Ùæ ................. çßçÏØæ¢ ãñ´UÐ

·¤) v ¹) w

») x �æ) y

How many methods of .................. constrcting Index Numbers.

a) 1 b) 2

c) 3 d) 4

v®. âê¿·¤æ¢·¤ °·¤ âæ¢ç�Ø·¤è ×æÂ ãñUÐ Áô â×Ø, SÍæÙ Øæ ¥�Ø ç·¤âè
çßàæðáÌæ ·ð¤ ¥æÏæÚU ÂÚU Ì�Øô´, Áñâð ·¤è×Ì, ©U�ÂæÎÙ, çÙØæüÌ ×ð´ ¥æÙð ßæÜð

ÂçÚUßÌüÙô´ ·¤ô ............... ·ð¤ M¤Â ×ð´ ÃØ�Ì ·¤ÚUÌæ ãñUÐ

·¤) ¥õâÌ ¹) ÂýçÌàæÌ

») »é�ææ¢·¤ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´
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Index number are statistical measures which on the basis of

charactestics of time, place, producion, cost, exports, variable

or any other which depicts the change in the points of ............

a) Average b) percentage

c) Coefficient d) None of these

vv. ·¤ô§ü Îô ÂýàÙ ·¤ÚÔ´U
Attempt any two questions: (2×2=4)

·¤) ¥õâÌ ç·¤âð ·¤ãUÌð ãñ´U? °·¤ ¥�ÀðU ¥õâÌ ·¤è çßàæðáÌæ¥ô´ ·¤æ ß�æüÙ ·¤ÚÔ´UÐ

What is central tendency? What are the essentials of a good

average?

¹) ÕãéUÜ·¤ ·¤è ÂçÚUÖæáæ ÎèçÁ°Ð §â·ð¤ »é�æ ÌÍæ ¥ß»é�æ �Øæ ãñ´U?

Define Mode. What are its Merits.

») ç·¤âè ·¤ÿææ ·ð¤ Îâ çßlæçÍüØô´ mæÚUæ ÂÚUèÿææ ·ð¤ Âýæ�Ì ¥¢·¤ çÙ�ÙçÜç¹Ì
ãñ´UÐ §Ù·¤æ Âý×æÂ çß¿ÜÙ �ææÌ ·¤èçÁ°Ð

¥¢·¤ - vw, }, v|, vx, vz, ~, v}, vv, {, v
Following are obtained marks of any class 10 students. Calculate

the standard deviation :

Marks: 12, 8, 17, 13, 15, 9, 18, 11, 6, 1

vw. ·¤ô§ü Îô ÂýàÙ ·¤ÚÔ´U-

Attempt any two questions : (3×2=6)

·¤) ÏÙæ�×·¤ âãUâ¢Õ¢Ï ÌÍæ »�ææ�×·¤ âãUâ¢Õ¢Ï ×ð´ �Øæ ¥¢ÌÚU ãñU? ç¿�æ âçãUÌ
SÂcÅU ·¤ÚÔ´UÐ
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Distinguish between postive correlation and Negative correlation

along with diagrams.

¹) âÚUÜ ¥õÚU ÖæçÚUÌ âê¿·¤æ¢·¤ ×ð´ ¥¢ÌÚU ·¤èçÁ°Ð

Difference between simple and weighted Index numbers

») çÙ�ÙçÜç¹Ì ¥æ¢·¤Ç¸Uô´ âð ÕãéUÜ·¤ �ææÌ ·¤ÚÔ´UÐ

ß»æü�ÌÚU Ñ ®-v® v®-w® w®-x® x®-y® y®-z®

¥æßëçÌ Ñ w z | z w

Calculate the mode(Z) from following item :

C.I. 0-10 10-20 20-30 30-40 40-50

F 2 5 7 5 2

vx. çÙ�Ù ÂýàÙô´ ×ð´ ·¤ô§ü °·¤ ·¤ÚÔ´U Ñ

Attempt any one question. (5×1=5)

·¤) çÙ�Ù ¥æ¢·¤Ç¸Uô´ âð ÜæSÂèØÚU çßçÏ mæÚUæ âê¿·¤æ¢·¤ �ææÌ ·¤ÚÔ´UÐ

Find out Index number by using Laspeyries methods.

¹) âê¿·¤æ¢·¤ ·ð¤ çÙ×æü�æ ×ð´ ·¤õÙ âè ·¤çÆUÙæ§Øô´ ·¤æ âæ×Ùæ ·¤ÚUÙæ ÂÇ¸UÌæ ãñU?

Explain the difficulties that aries in the construction of Index

numbers.
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Öæ»-Õ

Part-B

ÙôÅU Ñ ÂýàÙ â¢�Øæ vy âð wx Ì·¤ ×ð´ çÎ° »° çß·¤ËÂô´ ×ð´ âð âãUè çß·¤ËÂ
·¤æ ¿éÙæß ·¤ÚÔ´UÑ

In question numbers 14 to 23 select the correct option from the

given altenatives. (1×10=10)

vy. »ÚUèÕè âð ¥çÖÂýæØ ãñU ÁèßÙ, SßæS�Ø, ÌÍæ ·¤æØü·é¤àæÜÌæ ·ð¤ çÜ°
.............. ©UÂÖô» ¥æßàØ·¤Ìæ¥ô´ ·¤è Âýæç�Ì ·¤è ©UÂØôç»Ìæ âð ãñUÐ

·¤) ¥çÏ·¤Ì× ¹) �ØêÙÌ×

») àæê�Ø �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

Poverty is the Inability to get the .............. consumption

requirement for life, health and efficiency

a) Maximum b) Minimum

c) Zero d) None of these

vz. âæ×æ�Ø ÚUôÁ»æÚU ×ð´ °·¤ ×ÁÎêÚU ·ð¤ Âæâ ç·¤ÌÙð �æ�ÅðU ·¤æ× ãUôÙæ ¿æçãU°Ð

·¤) {¤ ¹) }

») ~¤ �æ) v®¤

Usual Employed should have at least how many hours should

have work.

a) 6 b) 8

c) 9 d) 10
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v{. âãUÖæç»Ìæ ÎÚU =

·¤) 100s
²p®h�¸Äk�Ü÷�

²®�÷��¢h ¹) 100s
²®�÷��¢h
¸Äk�Ü÷�

») ·¤ ÌÍæ ¹ ÎôÙô´ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

Participation rate=

a) 100q
Total Population

Work force
b) 100q

Work Force

Total Population

c) both a and b d) None of these

v|. ¥ÎëàØ ÕðÚUôÁ»æÚUè ç·¤â ÿæð�æ ×ð´ Âæ§ü ÁæÌè ãñU?

·¤) ·ë¤çá ÿæð�æ ¹) ¥õlôç»·¤ ÿæð�æ

») âðßæ ÿæð�æ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

Disguisded unemployment found in which sector?

a) Agriculture Sector b) Industrial Sector

c) Service Sector d) None of these

v}. ·ë¤çá ßñ·¤ ÙæßÇUü ·¤è SÍæÂÙæ ·¤Õ ·¤è »§ü?

·¤) vw ÁéÜæ§ü v~}® ¹) vw ÁéÜæ§ü v~}w

») vw ÁéÜæ§ü v~}v �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

NABARD who established in?

a) 12 July 1980 b) 12 July 1982
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c) 12 July 1981 d) None of these

v~. ÂýçÌÃØç�Ì ¥æØ

·¤) 
Â8�FcÑ8q÷���÷
¸Äk�Ü÷�

¹) 
¸Äk�Ü÷�

Â8�FcÑ8q÷���÷

») ·¤ ÌÍæ ¹ ÎôÙô´ �æ) ·¤ô§ü Öè ÙãUè´

Per Capital Income :

a) 
National Income

population
b) 

Population

National Income

c) both a and b d) None of these

w®. ÖæÚUÌ ×ð´ âæÿæÚUÌæ ÎÚU ç·¤ÌÙè ãñU?¤

·¤) |x.®y ¹) |z.®y

») |y.®y �æ) |{.®w

What is Litracy rate of India?

a) 73.04 b) 75.04

c) 74.04 d) 76.02

wv. ×ÙÚÔU»æ ·ð¤ ÌãUÌ ç·¤ÌÙð çÎÙ ÚUôÁ»æÚU çÎØæ ÁæÌæ ãñU?

·¤) âõ çÎÙ¤ ¹) Â¿æâ çÎÙ

») w®® çÎÙ¤ �æ) §Ù×ð´ âð ·¤ô§ü ÙãUè´

How many days employment is given in (MGNREGA)

a) 100 Days b) 50 Days
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c) 200 Days d) None of these

ww. ×æÙß çß·¤æâ âê¿·¤æ¢·¤ ×ð´ ÖæÚUÌ ·¤õÙ âð SÍæÙ ÂÚU ãñU?

·¤) vx® ¹) vxw

») vxv¤ �æ) vxy

What is HDI Rank of India?

a) 130 b) 132

c) 131 d) 134

wx. ¥æÏæçÚU·¤ â¢ÚU¿Ùæ ç·¤ÌÙð Âý·¤æÚU ·¤è ãUôÌè ãñU?

·¤) x ¹) w

») y �æ) v

How many type of Basic Infrastructure?

a) 3 b) 2

c) 4 d) 1

wy. ·¤ô§ü Îô ÂýàÙ ·¤ÚÔ´U Ñ

Attempt any two questions. (2×2=4)

·¤) âæÂðÿæ ¥õÚU çÙÚUÂðÿæ çÙÏüÙÌæ ×ð´ ¥¢ÌÚU ·¤èçÁ°Ð

Distinguish between Relative and Absolute Poverty.

¹) ·ë¤çá âæ¹ ·ð¤ â¢SÍæ»Ì S�æôÌ ß »ñÚU â¢SÍæ»Ì S�æôÌ ·ð¤ ÕæÚÔU ×ð´ ß�æüÙ
·¤ÚÔ´UÐ

Downloaded from cclchapter.com



102

Describe Agricultural Credit Institutional and Non-Institutional

Sources.

») ×æÙß Âê¡Áè ÌÍæ ÖõçÌ·¤ Âê¢Áè ×ð´ ¥¢ÌÚU ·¤èçÁ°Ð

Differciate between Human and Physical Capital.

wz. ·¤ô§ü Îô ÂýàÙ ·¤ÚÔ´UÑ

Attempt any two questions. (3×2=6)

·¤) Áñçß·¤ ¹ðÌè �Øæ ãñU? Áñçß·¤ ¹ðÌè �Øô´ ¥ÂÙæÙè ¿æçãU°?

What is mean by organic farming? Why organic farming should

be adopted?

¹) ÖæÚUÌ ×ð´ ×æÙßèØ Âê¢Áè çÙ×æü�æ ·¤è ÎÚU ·¤ô ÕÉ¸UæÙð ·ð¤ ©UÂæØ çÜç¹°Ð

Write down the measures that can be adopted to raise the rate

of human capital formation.

») ÖæÚUÌ ¥õÚU ¿èÙ ·ð¤ Õè¿ ×æÙßèØ çß·¤æâ âê¿·¤æ¢·¤ ·¤è ÌéÜÙæ ·¤èçÁ°Ð

Comparsion of Human Development Index (HDI) between India

and China.

w{. ·¤ô§ü Îô ÂýàÙ ·¤ÚÔ´UÑ

Attempt any one question. 10

·¤) çÙÏüÙÌæ âð �Øæ ¥çÖÂýæØ ãñU? ÖæÚUÌ ×ð´ çÙÏüÙÌæ ·ð¤ ·¤æÚU�æô´ ·¤æ ß�æüÙ

·¤èçÁ°Ð
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What is meant by poverty? Mention the causes of poverty in

India?

¹) SßæSÍØ âðßæ ÖæÚUÌ ·¤è âæ×æçÁ·¤, ¥æÏæçÚU·¤ â¢ÚU¿Ùæ ·¤è ©UÖÚUÌè ãéU§ü
¿éÙõÌè ãñUÐ ·ñ¤âð?

Health care in India is an emerging challenge of social

Infrastructure How?
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